


GOPRC,,, USERS: 

The GoPro® mount adapter is designed to be used 

with any of the previous configurations mentioned. 

1. Flip the (-FAST VERSADJUST over and place the

GoPro® mount adapter on the chassis. Install
the adapter using the 2 loose M3 screws through

the two open holes. (Figure 7) Torque screws to

0.6-0.8 Nm (5-7 in lbs).
2. Attach camera, and tighten pivot bolt. (Figure 8)

NOTE: For optimal video capture, we recommend 

you keep the C-FAST VERSADJUST mount in its 

original, non-extended state. This preferred 

position reduces image vibration. (Figure 9) 

WHICH OPEN HOLES TD USE: 

For Garmin®/ Cateye® users 

For Wahoo"/ Garmin" Watch users 

INSTALL C-FAST VERSADJUST ON YOUR BIKE: 

1. Remove both M4 socket head cap bolts from the computer mount clamp. (Figure 10)

2. Place c-FAST VERSADJUST mount on the aerobar extension in your desired position.

3. Place one M4 socket head cap screw through the band and thread it into the C-Fast mount.
(Figure 11) TIP: This step is easier if you flip the computer mount upside down and insert the

screws from the top.

4. Insert the remaining M4 socket head cap screw into the second hole and into the C-Fast mount.
Ensure mount is at desired position, then tighten screws with 3 mm Allen Wrench. Make sure to

tighten screws evenly to prevent any extra stress on one side. Torque screws to 1.7 Nm (15 in lbs).

5. Install your computer onto the c-FAST VERSADJUST mount and turn clockwise to lock. (Figure 12)

THE MOUNT CAN BE CENTERED BETWEEN YOUR 

AEROBAR EXTENSIONS FOR OPTIMAL VIEWING: 

CENTERING YOUR COMPUTER: 

1. Press and hold the silver button on the bottom of the c-FAST VERSADJUST extension arm and extend to your desired position. (Figure 13-A)

2. Release button. Once arm position is set, tighten set screw with 2 mm alien wrench to prevent rattling. (Figure 13-B)

Figure 10 

WARRANTY: 
C-FAST VERSADJUST has a 3 year limited warranty. See website for details.

REV 117/20 


